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Problem 1

A

1

1√
2

(X + Z) = 1√
2

[
0 1
1 0

]
+

[
1 0
0 −1

]
= 1√

2

[
1 1
1 −1

]
:= H

2

HXH = 1√
2

[
1 1
1 −1

] [
0 1
1 0

] [
1 1
1 −1

]
= 1

2

[
1 1
1 −1

] [
1 −1
1 1

]
=

= 1
2

[
2 0
0 −2

]
=

[
1 0
0 −1

]
:= Z

HYH = 1√
2

[
1 1
1 −1

] [
0 −i
i 0

] [
1 1
1 −1

]
= 1

2

[
1 1
1 −1

] [
−i i
i i

]
=

= 1
2

[
0 2i
−2i 0

]
=

[
0 i
−i 0

]
= −Y.

HZH = 1√
2

[
1 1
1 −1

] [
1 0
0 −1

] [
1 1
1 −1

]
= 1

2

[
1 1
1 −1

] [
1 1
−1 1

]
=

= 1
2

[
0 2
2 0

]
=

[
0 1
1 0

]
= X.

3

XZ =
[
0 1
1 0

] [
1 0
0 −1

]
=

[
0 −1
1 0

]

−ZX = −
[
1 0
0 −1

] [
0 1
1 0

]
=

[
0 −1
1 0

]
 =⇒ XZ = −ZX
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XY =
[
0 1
1 0

] [
0 −i
i 0

]
=

[
i 0
0 −i

]

−Y X = −
[
0 −i
i 0

] [
0 1
1 0

]
= −

[
−i 0
0 i

]
 =⇒ XY = −Y X

ZY =
[
1 0
0 −1

] [
0 −i
i 0

]
=

[
0 −i
−i 0

]

−Y Z = −
[
0 −i
i 0

] [
1 0
0 −1

]
= −

[
0 i
i 0

]
 =⇒ ZY = −Y Z

4

TZ =
[
1 0
0 eiπ/4

] [
1 0
0 −1

]
=

[
1 0
0 −eiπ/4

]

ZT =
[
1 0
0 −1

] [
1 0
0 eiπ/4

]
=

[
1 0
0 −eiπ/4

]
 =⇒ TZ = ZT

5

(X ⊗X)CNOT = CNOT (X ⊗ I)

To prove this let’s look at how this acts on the computational basis.

|00〉 (X⊗I)−−−→ |10〉 CNOT−−−−→ |11〉

|01〉 (X⊗I)−−−→ |11〉 CNOT−−−−→ |10〉

|10〉 (X⊗I)−−−→ |00〉 CNOT−−−−→ |00〉

|11〉 (X⊗I)−−−→ |01〉 CNOT−−−−→ |01〉

|00〉 CNOT−−−−→ |00〉 (X⊗X)−−−−→ |11〉

|01〉 CNOT−−−−→ |01〉 X⊗X)−−−→ |10〉

|10〉 CNOT−−−−→ |11〉 X⊗X)−−−→ |00〉

|11〉 CNOT−−−−→ |10〉 X⊗X)−−−→ |01〉

Which shows that the two circuits are equivalent.
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(I ⊗X)CNOT = CNOT (I ⊗X)

We again look at how this acts on the computational basis.

|00〉 (I⊗X)−−−→ |01〉 CNOT−−−−→ |01〉

|01〉 (I⊗X)−−−→ |00〉 CNOT−−−−→ |00〉

|10〉 (I⊗X)−−−→ |11〉 CNOT−−−−→ |10〉

|11〉 (I⊗X)−−−→ |10〉 CNOT−−−−→ |11〉

|00〉 CNOT−−−−→ |00〉 (I⊗X)−−−→ |01〉

|01〉 CNOT−−−−→ |01〉 (I⊗X)−−−→ |00〉

|10〉 CNOT−−−−→ |11〉 (I⊗X)−−−→ |10〉

|11〉 CNOT−−−−→ |10〉 (I⊗X)−−−→ |11〉

Which shows that the two circuits are equivalent.

B

CZ =


1 0 0 0
0 1 0 0
0 0 1 0
0 0 0 −1


The computational basis for a two-qubit system in vector representation is,

|00〉 =


1
0
0
0

 , |01〉 =


0
1
0
0

 , |10〉 =


0
0
1
0

 , |11〉 =


0
0
0
1

 ,

From this it follows that

CZ |00〉 =


1 0 0 0
0 1 0 0
0 0 1 0
0 0 0 −1



1
0
0
0

 =


1
0
0
0

 = |00〉 .

Repeating the same computations on the other computational basis states gives,

CZ |00〉 = |00〉 CZ |01〉 = |01〉 CZ |10〉 = |10〉 CZ |11〉 = − |11〉 .
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1
To show CZ1,2 = CZ2,1 we show that both act in the same way on the computational
basis.

|00〉 CZ1,2−−−→|00〉 CZ2,1←−−− |00〉

|01〉 CZ1,2−−−→|01〉 CZ2,1(Z|0〉=|0〉)←−−−−−−−−− |01〉

|10〉 CZ1,2(Z|0〉=|0〉)−−−−−−−−−→|10〉 CZ2,1←−−− |10〉

|11〉 CZ1,2(Z|1〉=−|1〉)−−−−−−−−−−→ − |11〉 CZ2,1(Z|1〉=−|1〉)←−−−−−−−−−− |11〉

2
Let |ψ〉 = |01〉.

CNOT1,2 |ψ〉 = |01〉 6= CNOT2,1 |ψ〉 = |11〉 =⇒ CNOT1,2 6= CNOT2,1.

3
To show (I ⊗H)CZ1,2(I ⊗H) = CNOT1,2 we show that both acts the same on the
computational basis.

First consider (I ⊗H)CZ1,2(I ⊗H):

◦ |00〉 (I⊗H)−−−→ |0〉 |+〉 = 1√
2

(|00〉+ |01〉) CZ1,2−−−→ 1√
2

(|00〉+ |01〉) (I⊗H)−−−→

1√
2

(|0〉 |+〉+ |0〉 |−〉) = 1
2(|00〉+ |01〉+ |00〉 − |01〉) = 1

22 |00〉= |00〉

◦ |01〉 (I⊗H)−−−→ |0〉 |−〉 = 1√
2

(|00〉 − |01〉) CZ1,2−−−→ 1√
2

(|00〉 − |01〉) (I⊗H)−−−→

1√
2

(|0〉 |+〉 − |0〉 |−〉) = ...= |01〉

◦ |10〉 (I⊗H)−−−→ |1〉 |+〉 = 1√
2

(|10〉+ |11〉) CZ1,2−−−→ 1√
2

(|10〉 − |11〉) (I⊗H)−−−→

1√
2

(|1〉 |+〉 − |1〉 |−〉) = ...= |11〉

◦ |11〉 (I⊗H)−−−→ |1〉 |−〉 = 1√
2

(|10〉 − |11〉) CZ1,2−−−→ 1√
2

(|10〉+ |11〉) (I⊗H)−−−→

1√
2

(|1〉 |+〉+ |1〉 |−〉) = ...= |10〉

We know from before that,

CNOT1,2 |00〉 7→ |00〉 , CNOT1,2 |01〉 7→ |01〉 , CNOT1,2 |10〉 7→ |11〉 and CNOT1,2 |11〉 7→ |10〉 .

combining the two results gives that (I ⊗H)CZ1,2(I ⊗H) = CNOT1,2.
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4
To show (H ⊗ H)CNOT1,2(H ⊗ H) = CNOT2,1 we show that both acts the same
on the computational basis.

It can easily be seen that:

CNOT2,1 |00〉 7→ |00〉 , CNOT2,1 |01〉 7→ |11〉 , CNOT2,1 |10〉 7→ |10〉 and CNOT2,1 |11〉 7→ |01〉 .

Next show that (H⊗H)CNOT1,2(H⊗H) acts the same on the computational basis.

◦ |00〉 (H⊗H)−−−−→ |+〉 |+〉 = 1
2(|00〉+ |01〉+ |10〉+ |11〉) CNOT1,2−−−−−→ 1

2(|00〉+ |01〉+ |11〉+ |10〉) (H⊗H)−−−−→
1
2(|+〉 |+〉+ |+〉 |−〉+ |−〉 |−〉+ |−〉 |+〉) = ...= |00〉

◦ |01〉 (H⊗H)−−−−→ |+〉 |−〉 = 1
2(|00〉 − |01〉+ |10〉 − |11〉) CNOT1,2−−−−−→ 1

2(|00〉 − |01〉+ |11〉 − |10〉) (H⊗H)−−−−→
1
2(|+〉 |+〉 − |+〉 |−〉+ |−〉 |−〉 − |−〉 |+〉) = ...= |11〉

◦ |10〉 (H⊗H)−−−−→ |−〉 |+〉 = 1
2(|00〉+ |01〉 − |10〉 − |11〉) CNOT1,2−−−−−→ 1

2(|00〉+ |01〉 − |11〉 − |10〉) (H⊗H)−−−−→
1
2(|+〉 |+〉+ |+〉 |−〉 − |−〉 |−〉 − |−〉 |+〉) = ...= |10〉

◦ |11〉 (H⊗H)−−−−→ |−〉 |−〉 = 1
2(|00〉 − |01〉 − |10〉+ |11〉) CNOT1,2−−−−−→ 1

2(|00〉 − |01〉 − |11〉+ |10〉) (H⊗H)−−−−→
1
2(|+〉 |+〉 − |+〉 |−〉 − |−〉 |−〉+ |−〉 |+〉) = ...= |01〉
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Problem 2

A

Express |Φ+〉 = 1√
2(|00〉+ |11〉) in the ±-basis. Expressing this in the computa-

tional basis,

|++〉 = 1
2(|00〉+ |01〉+ |10〉+ |11〉)

|+−〉 = 1
2(|00〉 − |01〉+ |10〉 − |11〉)

|−+〉 = 1
2(|00〉+ |01〉 − |10〉 − |11〉)

|−−〉 = 1
2(|00〉 − |01〉 − |10〉+ |11〉)

From this we can see that |Ψ+〉 = 1√
2(|00〉+ |11〉) = 1√

2(|++〉 − |−−〉).

Express |GHZ〉 = 1√
2(|000〉+ |111〉) in the (|+ + +〉 , |+ +−〉 , ..., |− − −〉)-basis.

With similar a computation as above we get that |GHZ〉 = 1√
2(|000〉 + |111〉) =

1
2(|+ + +〉+ |+−−〉+ |−+−〉+ |− −+〉).

B

CNOT |++〉 = CNOT
1
2(|00〉+ |01〉+ |10〉+ |11〉) =

= 1
2(|00〉+ |01〉+ |11〉+ |10〉) = |++〉 = |+〉 ⊗ |+〉 .

Yes, it is a product state, since the state is equal to |+〉 ⊗ |+〉.

C

CZ |++〉 = CNOT
1
2(|00〉+ |01〉+ |10〉+ |11〉) = 1

2(|00〉+ |01〉+ |10〉 − |11〉).
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This state is not a product state. To show this consider two states |ψ〉 = a |0〉+ b |1〉
and |φ〉 = c |0〉+ d |1〉, their joint states is,

|ψ〉 ⊗ |φ〉 = ac |00〉+ ad |01〉+ bc |10〉+ bd |11〉 =


ac
ad
bc
bd

 =


1
1
1
−1

 =⇒

ac = 1 = bc =⇒ a = b (since c 6= 0) , ad = 1 a=b= bd = −1 =⇒ 1 = −1.

Which is a contradiction.

D
Let |ψ〉 = a |0〉+ b |1〉, compute CNOT |ψ〉 |−〉,

CNOT |ψ〉 ⊗ |−〉 = CNOT
( 1√

2
(a |00〉 − a |01〉+ b |10〉 − b |11〉)

)
= 1√

2
(a |00〉 − a |01〉+ b |11〉 − b |10〉).

The state is a product state, let |φ〉 = a |0〉 − b |1〉 and |γ〉 = 1√
2(|0〉 − |1〉) then it

follow that |φ〉 ⊗ |γ〉 = 1√
2(a |00〉 − a |01〉+ b |11〉 − b |10〉).

E
Show that SWAP = CNOT1,2CNOT2,1CNOT1,2(|ψ〉 ⊗ |φ〉) = |φ〉 ⊗ |ψ〉, where
|ψ〉 , |φ〉 are single qubit states. To show this it is sufficient to show it for the
computational basis.

|0〉 ⊗ |0〉 = |00〉 CNOT1,2−−−−−→|00〉 CNOT2,1−−−−−→ |00〉 CNOT1,2−−−−−→ |00〉 = |0〉 ⊗ |0〉

|0〉 ⊗ |1〉 = |01〉 CNOT1,2−−−−−→|01〉 CNOT2,1−−−−−→ |11〉 CNOT1,2−−−−−→ |10〉 = |1〉 ⊗ |0〉

|1〉 ⊗ |0〉 = |10〉 CNOT1,2−−−−−→|11〉 CNOT2,1−−−−−→ |01〉 CNOT1,2−−−−−→ |01〉 = |0〉 ⊗ |1〉

|1〉 ⊗ |1〉 = |11〉 CNOT1,2−−−−−→|10〉 CNOT2,1−−−−−→ |10〉 CNOT1,2−−−−−→ |11〉 = |1〉 ⊗ |1〉

F
The unitary matrix describing the transformation:

|00〉 7→ |00〉 , |01〉 7→ − |01〉 , |10〉 7→ − |10〉 , |11〉 7→ |11〉 .

is

U1 =


1 0 0 0
0 −1 0 0
0 0 −1 0
0 0 0 1

 = Z ⊗ Z.
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The unitary matrix describing the transformation:

|00〉 7→ |00〉 , |01〉 7→ |01〉 , |10〉 7→ |11〉 |11〉 7→ − |10〉 .

is

U2 =


1 0 0 0
0 1 0 0
0 0 0 −1
0 0 1 0

 = CNOT · CZ = CNOT (I ⊗H)CNOT (I ⊗H).
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Problem 3

A
Show that H⊗2 |00〉 = 1

2(|00〉+ |01〉+ |10〉+ |11〉).

H⊗2 |00〉 = (H ⊗H)(|0〉 ⊗ |0〉) = H |0〉 ⊗H |0〉 =

= 1√
2

(|0〉+ |1〉)⊗ 1√
2

(|0〉+ |1〉) =

= 1
2(|00〉+ |01〉+ |10〉+ |11〉).

This can be rewritten asH⊗2 |00〉 = 1
2(|00〉+|01〉+|10〉+|11〉) = 1√

22

∑
x∈{0,1}2 |x〉. We

want to use this to prove that in general it holds that H⊗n |0n〉 = 1√
2n

∑
x∈{0,1}n |x〉.

For any n > 2 we have,

H⊗n |0n〉 = (H ⊗H ⊗ · · ·H ⊗H)(|0〉 ⊗ |0〉 ⊗ · · · ⊗ |0〉) = H |0〉 ⊗H |0〉 ⊗ · · · ⊗H |0〉 =

= 1√
2

(|0〉+ |1〉)⊗ 1√
2

(|0〉+ |1〉)⊗ · · · ⊗ 1√
2

(|0〉+ |1〉) =

= 1√
2

(|0〉+ |1〉)⊗H⊗n−1 |0n−1〉) = 1√
2

(|0〉+ |1〉)⊗ 1√
2n−1

∑
x∈{0,1}n−1

|x〉 =

= 1√
2n
|0〉 ⊗

∑
x∈{0,1}n−1

|x〉+ |1〉 ⊗
∑

x∈{0,1}n−1

|x〉 =

= 1√
2n

∑
x∈{0,1}n

|x〉 .

B
For b ∈ {0, 1} the Hadamard on the computational basis can be written as,

H |b〉 = 1√
2

(|0〉+ (−1)b |1〉) = 1√
2

∑
y∈{0,1}

(−1)b·y |y〉 .

Use this to show H⊗n |x〉 = 1√
2n

∑
x∈{0,1}n(−1)x·y |y〉.
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First consider the case where n = 2, x ∈ {0, 1}2 = x1 ⊗ x2 where xi ∈ {0, 1} for
i = 1, 2.

H⊗2 |x〉 = (H ⊗H)(|x1〉 ⊗ |x2〉) = H |x1〉 ⊗H |x2〉 =

= 1√
2

∑
y∈{0,1}

(−1)x1·y |y〉 ⊗ 1√
2

∑
y∈{0,1}

(−1)x2·y |y〉 =

= 1√
22

∑
y∈{0,1}2

(−1)x1·y(−1)x2·y |y〉 = 1√
22

∑
y∈{0,1}2

(−1)x·y |y〉 .

Now let’s consider the case where n > 2, x ∈ {0, 1}n = ⊗n
i=1 xi where xi ∈ {0, 1}

for i = [1, n].

H⊗n |x〉 = (H ⊗H ⊗ · · · ⊗H)(|x1〉 ⊗ |x2〉 ⊗ · · · ⊗ |xn〉) = H |x1〉 ⊗H |x2〉 ⊗ · · · ⊗H |xn〉 =

=
( 1√

2
∑

y∈{0,1}
(−1)x1·y |y〉

)
⊗

( 1√
2

∑
y∈{0,1}

(−1)x2·y |y〉
)
⊗ · · · ⊗

( 1√
2

∑
y∈{0,1}

(−1)xn·y |y〉
)

=

= 1√
2

∑
y∈{0,1}

(−1)xn·y |y〉 ⊗H⊗n−1 |x̃〉 =

= 1√
2

∑
y∈{0,1}

(−1)xn·y |y〉 ⊗ 1√
2n−1

∑
y∈{0,1}n−1

(−1)x̃·y |y〉 = 1√
2n

∑
y∈{0,1}n

(−1)xn·y(−1)x̃·y |y〉 =

= 1√
2n

∑
y∈{0,1}n

(−1)xn·y+x̃·y |y〉 = 1√
2n

∑
y∈{0,1}n

(−1)x·y |y〉 ,

where x̃ = ⊗n−1
i=1 xi where xi ∈ {0, 1} for i = [1, n− 1].
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Problem 4

A

• |00〉 (H⊗I)−−−→ |+〉 |0〉 = 1√
2(|00〉 + |10〉) CZ1,2−−−→ 1√

2(|00〉 + |10〉) CZ2,1−−−→ 1√
2(|00〉 +

|10〉) CNOT1,2−−−−−→ 1√
2(|00〉+ |11〉).

• |00〉 (H⊗H)−−−−→ |+〉 |+〉 = 1√
2(|00〉 + |01〉 + |10〉 + |11〉) CNOT1,2−−−−−→ 1√

2(|00〉 + |01〉 +

|11〉 + |10〉) CNOT2,1−−−−−→ 1√
2(|00〉 + |11〉 + |01〉 + |10〉) CNOT1,2−−−−−→ 1√

2(|00〉 + |10〉 +

|01〉+ |11〉) (H⊗H)−−−−→ |00〉.

• |001〉 H⊗3
−−→ |+〉 |+〉 |−〉 = 1

2
√

2(|000〉 − |001〉 + |010〉 − |011〉 + |100〉 − |101〉 +

|110〉−|111〉) CNOT1,3−−−−−→ 1
2
√

2(|000〉−|001〉+ |010〉−|011〉+ |101〉−|100〉+ |111〉−

|110〉) CNOT2,3−−−−−→ 1
2
√

2(|000〉−|001〉+|011〉−|010〉+|101〉−|100〉+|110〉−|111〉) =
|− − −〉.

• |00〉 (H⊗I)−−−→ |+〉 |0〉 = 1√
2(|00〉+ |10〉) CNOT1,2−−−−−→ 1√

2(|00〉+ |11〉) (T ⊗T †)−−−−→ 1√
2(|00〉+

eiπ/4−iπ/4 |11〉) = 1√
2(|00〉+ |11〉) CNOT2,1−−−−−→ 1√

2(|00〉+ |01〉) (I⊗H)−−−→ |00〉

B

1

Since T is unitary it follows that TT † = I, since T 8 = I this can be rewritten as
T (T 7) = I =⇒ T 7 = T †.

2
The unitary performing this operator is SWAP1,2CNOT1,3CNOT2,3.

3
The unitary performing this operator is TTH.
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4
The unitary performing this operator is (X⊗X⊗I⊗I)(CNOT1,2)(CNOT1,3)(CNOT2,4)(H⊗
I ⊗ I ⊗ I).
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Problem 5

A projective measurment is specified by a collection of projectors {Pi}k
i=1 satisfies

P 2
i = Pi, PiPj = 0 and ∑k

i=1 Pi = I.

A

Show that P0 = |00〉 〈00|+ |11〉 〈11| and P1 = |01〉 〈01|+ |10〉 〈10| constitutive a valid
projective measurement.

Lets consider P0 and P1 in their matrix form:

P0 = |00〉 〈00|+ |11〉 〈11| =


1 0 0 0
0 0 0 0
0 0 0 0
0 0 0 1



P1 = |01〉 〈01|+ |10〉 〈10| =


0 0 0 0
0 1 0 0
0 0 1 0
0 0 0 0

 ,

From this it follows by matrix multiplication that P 2
0 = P0, P 2

1 = P1 and P0P1 = 0.
It is also straight forward to see that P0 + P1 = I.

17



Alternative way of showing this.

P 2
0 = (|00〉 〈00|+ |11〉 〈11|)(|00〉 〈00|+ |11〉 〈11|) =

= |00〉
=1︷ ︸︸ ︷

〈00| |00〉 〈00|+ |00〉
=0︷ ︸︸ ︷

〈00| |11〉 〈11|+ |11〉
=0︷ ︸︸ ︷

〈11| |00〉 〈00|+ |11〉
=1︷ ︸︸ ︷

〈11| |11〉 〈11| =
= |00〉 〈00|+ |11〉 〈11| = P0.

P 2
1 = (|01〉 〈01|+ |10〉 〈10|)(|01〉 〈01|+ |10〉 〈10|) =

= |01〉
=1︷ ︸︸ ︷

〈01| |01〉 〈01|+ |01〉
=0︷ ︸︸ ︷

〈01| |10〉 〈10|+ |10〉
=0︷ ︸︸ ︷

〈10| |01〉 〈01|+ |10〉
=1︷ ︸︸ ︷

〈10| |10〉 〈10| =
= |01〉 〈01|+ |10〉 〈10| = P1.

P0P1 = (|00〉 〈00|+ |11〉 〈11|)(|01〉 〈01|+ |10〉 〈10|) =

= |00〉
=0︷ ︸︸ ︷

〈00| |01〉 〈01|+ |00〉
=0︷ ︸︸ ︷

〈00| |10〉 〈10|+ |11〉
=0︷ ︸︸ ︷

〈11| |01〉 〈01|+ |11〉
=0︷ ︸︸ ︷

〈11| |10〉 〈10| = 0.
P0 + P1 = (|00〉 〈00|+ |11〉 〈11|) + (|01〉 〈01|+ |10〉 〈10|) = I

B

Measuring state |++〉 = 1
2(|00〉+ |01〉+ |10〉+ |11〉) in projective measurement from

task A.

First consider P0. Probability of seeing outcome 0 is given by,

〈++|P0 |++〉 = 1
2

(
〈00|+ 〈01|+ 〈10|+ 〈11|

)(
|00〉 〈00|+ |11〉 〈11|

)1
2

(
|00〉+ |01〉+ |10〉+ |11〉

)
=

= 1
4

(
〈00|+ 〈01|+ 〈10|+ 〈11|

)
(
|00〉

=1︷ ︸︸ ︷
〈00| |00〉+ |00〉

=0︷ ︸︸ ︷
〈00| |01〉+ |00〉

=0︷ ︸︸ ︷
〈00| |10〉+ |00〉

=0︷ ︸︸ ︷
〈00| |11〉+

+ |11〉
=0︷ ︸︸ ︷

〈11| |00〉+ |11〉
=0︷ ︸︸ ︷

〈11| |01〉+ |11〉
=0︷ ︸︸ ︷

〈11| |10〉+ |11〉
=1︷ ︸︸ ︷

〈11| |11〉
)

=

= 1
4

(
〈00|+ 〈01|+ 〈10|+ 〈11|

)(
|00〉+ |11〉

)
= ... = 1

4(〈00| |00〉+ 〈11| |11〉) = 1
2 .

The post-measurement state after seeing 0 in a measurement is,

P0 |++〉√
〈++|P0 |++〉

=
(|00〉 〈00|+ |11〉 〈11|)1

2(|00〉+ |01〉+ |10〉+ |11〉)√
1
2

=

= ... = (|00〉+ |11〉)√
2

.

Doing the same computation for P1 gives that 〈++|P1 |++〉 = 1
2 and P1|++〉√

〈++|P1|++〉
=

(|01〉+|10〉)√
2 .
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If we instead consider measuring the state Φ+ = 1√
2(|00〉 + |11〉), what is the prob-

ability then of seeing 0/1.

We start with computing the probability of seeing 0.

〈Φ+|P0 |Φ+〉 = 1√
2

(
〈00|+ 〈11|

)(
|00〉 〈00|+ |11〉 〈11|

) 1√
2

(
|00〉+ |11〉

)
=

= 1
2

(
〈00|+ 〈11|

)(
|00〉

=1︷ ︸︸ ︷
〈00| |00〉+ |00〉

=0︷ ︸︸ ︷
〈00| |11〉+ |11〉

=0︷ ︸︸ ︷
〈11| |00〉+ |11〉

=1︷ ︸︸ ︷
〈11| |11〉

)
=

= 1
2

(
〈00|+ 〈11|

)(
|00〉+ |11〉

)
= ... = 1

2(〈00| |00〉+ 〈11| |11〉) = 1
2 + 1

2 = 1.

And the post-measurement state is,

P0 |Φ+〉√
〈Φ+|P0 |Φ+〉

=
(|00〉 〈00|+ |11〉 〈11|) 1√

2(|00〉+ |11〉)
√

1
= (|00〉 〈00|+ |11〉 〈11|)(|00〉+ |11〉)√

2
=

= ... = |00〉
=1︷ ︸︸ ︷

〈00| |00〉+ |11〉
=1︷ ︸︸ ︷

〈11| |11〉√
2

= (|00〉+ |11〉)√
2

= |Φ+〉 .

Consequently 〈Φ+|P1 |Φ+〉 = 0.

C
The projectors for measuring the first qubit in a 3-qubit state are : P0 = |0〉 〈0|⊗I⊗I,
P1 = |1〉 〈1| ⊗ I ⊗ I.

• What are the possible post-measurement states and probabilities of them when
measuring the first qubit in GHZ state? Remember GHZ = 1√

2(|000〉+ |111〉).

We start with computing the probability of seeing 0 and 1.

〈GHZ|P0 |GHZ〉 = 1√
2

(
〈000|+ 〈111|

)(
|0〉 〈0| ⊗ I ⊗ I

) 1√
2

(
|000〉+ |111〉

)
=

= 1
2

(
〈000|+ 〈111|

)(
|0〉

=1︷ ︸︸ ︷
〈0| |0〉⊗I |0〉 ⊗ I |0〉+ |0〉

=0︷ ︸︸ ︷
〈0| |1〉⊗I |1〉 ⊗ I |1〉

)
=

= 1
2

(
〈000|+ 〈111|

)
|000〉 = 1

2

(
〈000| |000〉+ 〈111| |000〉

)
= 1

2 .

〈GHZ|P1 |GHZ〉 = 1√
2

(
〈000|+ 〈111|

)(
|1〉 〈1| ⊗ I ⊗ I

) 1√
2

(
|000〉+ |111〉

)
= ... = 1

2 .

And the post-measurement states are ,

P0 |GHZ〉√
〈GHZ|P0 |GHZ〉

=
(|0〉 〈0| ⊗ I ⊗ I) 1√

2(|000〉+ |111〉)
1√
2

= |000〉

P1 |GHZ〉√
〈GHZ|P1 |GHZ〉

=
(|1〉 〈1| ⊗ I ⊗ I) 1√

2(|000〉+ |111〉)
1√
2

= |111〉
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• What are the possible post-measurement states and probabilities of them when
measuring the first qubit in |W 〉 = 1√

3(|001〉+ |010〉+ |100〉) state?

We start with computing the probability of seeing 0 and 1.

〈W |P0 |W 〉 = 1√
3

(
〈001|+ 〈010|+ 〈100|

)(
|0〉 〈0| ⊗ I ⊗ I

) 1√
3

(
|001〉+ |010〉+ |100〉

)
=

= 1
3

(
〈001|+ 〈010|+ 〈100|

)(
|0〉

=1︷ ︸︸ ︷
〈0| |0〉⊗I |0〉 ⊗ I |1〉+

+ |0〉
=1︷ ︸︸ ︷
〈0| |0〉⊗I |1〉 ⊗ I |0〉+ |0〉

=0︷ ︸︸ ︷
〈0| |1〉⊗I |0〉 ⊗ I |0〉) =

= 1
3

(
〈001|+ 〈010|+ 〈100|

)(
|001〉+ |010〉

)
=

= 1
3

( =1︷ ︸︸ ︷
〈001| |001〉+

=0︷ ︸︸ ︷
〈010| |001〉+

=0︷ ︸︸ ︷
〈100| |001〉+

+
=1︷ ︸︸ ︷

〈001| |010〉+
=0︷ ︸︸ ︷

〈010| |010〉+
=1︷ ︸︸ ︷

〈100| |010〉
)

= 2
3 .

〈W |P1 |W 〉 = 1√
3

(
〈001|+ 〈010|+ 〈100|

)(
|1〉 〈1| ⊗ I ⊗ I

) 1√
3

(
|001〉+ |010〉+ |100〉

)
=

= 1
3

(
〈001|+ 〈010|+ 〈100|

)(
|1〉

=0︷ ︸︸ ︷
〈1| |0〉⊗I |0〉 ⊗ I |1〉+

+ |1〉
=0︷ ︸︸ ︷
〈1| |0〉⊗I |1〉 ⊗ I |0〉+ |1〉

=1︷ ︸︸ ︷
〈1| |1〉⊗I |0〉 ⊗ I |0〉) =

= 1
3

(
〈001|+ 〈010|+ 〈100|

)
|100〉 =

= 1
3

( =0︷ ︸︸ ︷
〈001| |100〉+

=0︷ ︸︸ ︷
〈010| |100〉+

=1︷ ︸︸ ︷
〈100| |100〉 = 1

3 .

And the post-measurement states are ,

P0 |W 〉√
〈W |P0 |W 〉

=
(|0〉 〈0| ⊗ I ⊗ I) 1√

3(|001〉+ |010〉+ |100〉)√
2
3

= |001〉+ |010〉√
2

P1 |W 〉√
〈W |P1 |W 〉

=
(|1〉 〈1| ⊗ I ⊗ I) 1√

3(|001〉+ |010〉+ |100〉)√
1
3

= |100〉

D

Remark this circuit is the same as we looked at in Problem 4.B.3.

Assuming that |ψ〉 = a |00〉+ b |01〉+ c |10〉+ d |11〉, the 3-qubit state transforms as,
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|ψ〉 ⊗ |0〉 =(a |000〉+ b |010〉+ c |100〉+ d |110〉) CNOT1,3−−−−−→

(a |000〉+ b |010〉+ c |101〉+ d |111〉) CNOT2,3−−−−−→
(a |000〉+ b |011〉+ c |101〉+ d |110〉) = |ψ̃〉 .

Intrpducing the notation |ψ̃〉.

Since we want to measure only the third qubit in the 3 − qubit state in the com-
putational basis the corresponding projectors are: P0 = I ⊗ I ⊗ |0〉 〈0| and P1 =
I ⊗ I ⊗ |1〉 〈1|.

We start with computing the probability of seeing 0 and 1.

〈ψ̃|P0 |ψ̃〉 =
(
a 〈000|+ b 〈011|+ c 〈101|+ d 〈110|

)
(
I ⊗ I ⊗ |0〉 〈0|

)(
a |000〉+ b |011〉+ c |101〉+ d |110〉

)
=

=
(
a 〈000|+ b 〈011|+ c 〈101|+ d 〈110|

)
(
a

[
I |0〉 ⊗ I |0〉 ⊗ |0〉

=1︷ ︸︸ ︷
〈0| |0〉

]
+ b

[
I |0〉 ⊗ I |1〉 ⊗ |0〉

=0︷ ︸︸ ︷
〈0| |1〉

]
+

+ c
[
I |1〉 ⊗ I |0〉 ⊗ |0〉

=0︷ ︸︸ ︷
〈0| |1〉

]
+ d

[
I |1〉 ⊗ I |1〉 ⊗ |0〉

=1︷ ︸︸ ︷
〈0| |0〉

])
=

=
(
a 〈000|+ b 〈011|+ c 〈101|+ d 〈110|

)(
a |000〉+ d |110〉

)
=

= ... =
(
a2 〈000| |000〉+ d2 〈110| |110〉

)
= (a2 + d2)

〈ψ̃|P1 |ψ̃〉 =
(
a 〈000|+ b 〈011|+ c 〈101|+ d 〈110|

)
(
I ⊗ I ⊗ |1〉 〈1|

)(
a |000〉+ b |011〉+ c |101〉+ d |110〉

)
=

=
(
a 〈000|+ b 〈011|+ c 〈101|+ d 〈110|

)
(
a

[
I |0〉 ⊗ I |0〉 ⊗ |1〉

=0︷ ︸︸ ︷
〈1| |0〉

]
+ b

[
I |0〉 ⊗ I |1〉 ⊗ |1〉

=1︷ ︸︸ ︷
〈1| |1〉

]
+

+ c
[
I |1〉 ⊗ I |0〉 ⊗ |1〉

=1︷ ︸︸ ︷
〈1| |1〉

]
+ d

[
I |1〉 ⊗ I |1〉 ⊗ |1〉

=0︷ ︸︸ ︷
〈1| |0〉

])
=

=
(
a 〈000|+ b 〈011|+ c 〈101|+ d 〈110|

)(
b |011〉+ c |101〉

)
=

= ... =
(
b2 〈000| |000〉+ c2 〈110| |110〉

)
= (b2 + c2)
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P0 |ψ̃〉√
〈ψ̃|P0 |ψ̃〉

= (I ⊗ I ⊗ |0〉 〈0|)(a |000〉+ b |011〉+ c |101〉+ d |110〉)√
a2 + d2

= a |000〉+ b |110〉√
a2 + d2

P1 |ψ̃〉√
〈ψ̃|P1 |ψ̃〉

= (I ⊗ I ⊗ |1〉 〈1|)(a |000〉+ b |011〉+ c |101〉+ d |110〉)√
b2 + c2

= b |011〉+ c |101〉√
b2 + c2

E

The projectors for measuring one qubit in the ±-basis are: P+ = |+〉 〈+| and P− =
|−〉 〈−|.

The projectors for measuring the first qubit of a 3-qubit state the ±-basis are:
P+ = |+〉 〈+| ⊗ I ⊗ I and P− = |−〉 〈−| ⊗ I ⊗ I.

• What are the possible post-measurement states and probabilities of them when
measuring the first qubit in GHZ state? Remember GHZ = 1√

2(|000〉+ |111〉.

We start with computing the probability of seeing 0 and 1.

〈GHZ|P+ |GHZ〉 = 1√
2

(
〈000|+ 〈111|

)(
|+〉 〈+| ⊗ I ⊗ I

) 1√
2

(
|000〉+ |111〉

)
=

= 1
2

(
〈000|+ 〈111|

)(
|+〉

= 1√
2︷ ︸︸ ︷

〈+| |0〉⊗I |0〉 ⊗ I |0〉+ |+〉

= 1√
2︷ ︸︸ ︷

〈+| |1〉⊗I |1〉 ⊗ I |1〉)

= 1
2
√

2

(
〈000|+ 〈111|

)(
|+〉 |00〉+ |+〉 |11〉

)
=

= 1
2
√

2

( = 1√
2︷ ︸︸ ︷

〈000| |+〉 |00〉+
=0︷ ︸︸ ︷

〈000| |+〉 |11〉+
=0︷ ︸︸ ︷

〈111| |+〉 |00〉+

= 1√
2︷ ︸︸ ︷

〈111| |+〉 |11〉
)

=

= 1
2
√

2
2√
2

= 1
2 .

〈GHZ|P− |GHZ〉 = 1√
2

(
〈000|+ 〈111|

)(
|−〉 〈−| ⊗ I ⊗ I

) 1√
2

(
|000〉+ |111〉

)
=

= 1
2

(
〈000|+ 〈111|

)(
|−〉

= 1√
2︷ ︸︸ ︷

〈−| |0〉⊗I |0〉 ⊗ I |0〉+ |−〉

= −1√
2︷ ︸︸ ︷

〈−| |1〉⊗I |1〉 ⊗ I |1〉)

= 1
2
√

2

(
〈000|+ 〈111|

)(
|−〉 |00〉 − |−〉 |11〉

)
=

= 1
2
√

2

( = 1√
2︷ ︸︸ ︷

〈000| |−〉 |00〉+
=0︷ ︸︸ ︷

〈000| |−〉 |11〉−
=0︷ ︸︸ ︷

〈111| |−〉 |00〉−

= −1√
2︷ ︸︸ ︷

〈111| |−〉 |11〉
)

=

= 1
2
√

2
2√
2

= 1
2 .

22



And the post-measurement states are,

P+ |GHZ〉√
〈GHZ|P+ |GHZ〉

=
(|+〉 〈+| ⊗ I ⊗ I)1

2(|000〉+ |111〉)
1√
2

=

= 1√
2

(
|+〉 |00〉+ |+〉 |11〉

)
=

= 1
2

(
|000〉+ |100〉+ |011〉+ |111〉

)
P− |GHZ〉√

〈GHZ|P− |GHZ〉
=

(|−〉 〈−| ⊗ I ⊗ I)1
2(|000〉+ |111〉)

1√
2

=

= 1√
2

(
|−〉 |00〉 − |−〉 |11〉

)
=

= 1
2

(
|000〉 − |100〉 − |011〉+ |111〉

)
.

• What are the possible post-measurement states and probabilities of them when
measuring the first qubit in W state? Remember |W 〉 = 1√

3(|001〉 + |010〉 +
|100〉).
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We start with computing the probability of seeing 0 and 1.

〈W |P+ |W 〉 = 1√
3

(
〈001|+ 〈010|+ 〈100|

)(
|+〉 〈+| ⊗ I ⊗ I

) 1√
3

(
|001〉+ |010〉+ |100〉

)
=

= 1
3

(
〈001|+ 〈010|+ 〈100|

)
(
|+〉

= 1√
2︷ ︸︸ ︷

〈+| |0〉⊗I |0〉 ⊗ I |1〉+ |+〉

= 1√
2︷ ︸︸ ︷

〈+| |0〉⊗I |1〉 ⊗ I |0〉+ |+〉

= 1√
2︷ ︸︸ ︷

〈+| |1〉⊗I |0〉 ⊗ I |0〉
)

= 1
3
√

2

(
〈001|+ 〈010|+ 〈100|

)(
|+〉 |01〉+ |+〉 |10〉+ |+〉 |00〉

)
=

= 1
3
√

2

( = 1√
2︷ ︸︸ ︷

〈001| |+〉 |01〉+
=0︷ ︸︸ ︷

〈001| |+〉 |10〉+
0︷ ︸︸ ︷

〈001| |+〉 |00〉+

=0︷ ︸︸ ︷
〈010| |+〉 |01〉+

= 1√
2︷ ︸︸ ︷

〈010| |+〉 |10〉+
=0︷ ︸︸ ︷

〈010| |+〉 |00〉+
=0︷ ︸︸ ︷

〈100| |+〉 |01〉+
=0︷ ︸︸ ︷

〈100| |+〉 |10〉+

= 1√
2︷ ︸︸ ︷

〈100| |+〉 |00〉
)

=

= 1
3
√

2
3√
2

= 1
2 .

〈W |P− |W 〉 = 1√
3

(
〈001|+ 〈010|+ 〈100|

)(
|−〉 〈−| ⊗ I ⊗ I

) 1√
3

(
|001〉+ |010〉+ |100〉

)
=

= 1
3

(
〈001|+ 〈010|+ 〈100|

)
(
|−〉

= 1√
2︷ ︸︸ ︷

〈−| |0〉⊗I |0〉 ⊗ I |1〉+ |−〉

= 1√
2︷ ︸︸ ︷

〈−| |0〉⊗I |1〉 ⊗ I |0〉+ |−〉

= −1√
2︷ ︸︸ ︷

〈−| |1〉⊗I |0〉 ⊗ I |0〉
)

= 1
3
√

2

(
〈001|+ 〈010|+ 〈100|

)(
|−〉 |01〉+ |−〉 |10〉 − |−〉 |00〉

)
=

= 1
3
√

2

( = 1√
2︷ ︸︸ ︷

〈001| |−〉 |01〉+
=0︷ ︸︸ ︷

〈001| |−〉 |10〉+
0︷ ︸︸ ︷

〈001| |−〉 |00〉+

=0︷ ︸︸ ︷
〈010| |−〉 |01〉+

= 1√
2︷ ︸︸ ︷

〈010| |−〉 |10〉+
=0︷ ︸︸ ︷

〈010| |−〉 |00〉−
=0︷ ︸︸ ︷

〈100| |−〉 |01〉−
=0︷ ︸︸ ︷

〈100| |−〉 |10〉−

= −1√
2︷ ︸︸ ︷

〈100| |−〉 |00〉
)

=

= 1
3
√

2
3√
2

= 1
2 .

24



And the post-measurement states are ,

P+ |W 〉√
〈W |P+ |W 〉

=
(|+〉 〈+| ⊗ I ⊗ I) 1√

3
√

2(|001〉+ |010〉+ |100〉)
1√
2

=

= 1√
3

(
|+〉 |01〉+ |+〉 |10〉+ |+〉 |00〉

)
=

= 1√
2
√

3

(
|001〉+ |101〉+ |010〉+ |110〉+ |000〉+ |100〉

)
P− |W 〉√
〈W |P− |W 〉

=
(|−〉 〈−| ⊗ I ⊗ I) 1√

3
√

2(|001〉+ |010〉+ |100〉)
1√
2

=

= 1√
3

(
|−〉 |01〉+ |−〉 |10〉 − |−〉 |00〉

)
=

= 1√
2
√

3

(
|001〉 − |101〉+ |010〉 − |110〉 − |000〉+ |100〉

)

F

Consider a general |ψ〉 = a |++〉+ b |+−〉+ c |−+〉+ d |−−〉.

|ψ〉 |0〉 = a |++〉+ b |+−〉+ c |−+〉+ d−−)⊗ |0〉
(H⊗H⊗I)−−−−−−→ (a |00〉+ b |01〉+ c |10〉+ d |11〉)⊗ |0〉 = a |000〉+ b |010〉+ c |100〉+ d |110〉
(CNOT1,3)−−−−−−→ a |000〉+ b |010〉+ c |101〉+ d |111〉
(CNOT2,3)−−−−−−→ a |000〉+ b |011〉+ c |101〉+ d |110〉 .
(H⊗H⊗I)−−−−−−→ a |++〉 |0〉+ b |+−〉 |1〉+ c |−+〉 |1〉+ |−−〉 |0〉 = |ψ̃〉 .

Introducing the notation |ψ̃〉.

Since we want to measure only the third qubit in the 3 − qubit state in the com-
putational basis the corresponding projectors are: P0 = I ⊗ I ⊗ |0〉 〈0| and P1 =
I ⊗ I ⊗ |1〉 〈1|.
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We start with computing the probability of seeing 0 and 1.

〈ψ̃|P0 |ψ̃〉 =
(
a 〈++| 〈0|+ b 〈+−| 〈1|+ c 〈−+| 〈1|+ d 〈−−| 〈0|

)
(
I ⊗ I ⊗ |0〉 〈0|

)(
a |++〉 |0〉+ b |+−〉 |1〉+ c |−+〉 |1〉+ d |−−〉 |0〉

)
=

=
(
a 〈++| 〈0|+ b 〈+−| 〈1|+ c 〈−+| 〈1|+ d 〈−−| 〈0|

)
(
a

[
I |+〉 ⊗ I |+〉 ⊗ |0〉

=1︷ ︸︸ ︷
〈0| |0〉

]
+ b

[
I |+〉 ⊗ I |−〉 ⊗ |0〉

=0︷ ︸︸ ︷
〈0| |1〉

]
+

+ c
[
I |−〉 ⊗ I |+〉 ⊗ |0〉

=0︷ ︸︸ ︷
〈0| |1〉

]
+ d

[
I |−〉 ⊗ I |−〉 ⊗ |0〉

=1︷ ︸︸ ︷
〈0| |0〉

])
=

=
(
a 〈++| 〈0|+ b 〈+−| 〈1|+ c 〈−+| 〈1|+ d 〈−−| 〈0|

)(
a |++〉 |0〉+ d |−−〉 |0〉

)
=

= ... =
(
a2 〈++| 〈0| |++〉 |0〉+ d2 〈−−| 〈0| |−−〉 |0〉

)
= (a2 + d2)

〈ψ̃|P1 |ψ̃〉 =
(
a 〈++| 〈0|+ b 〈+−| 〈1|+ c 〈−+| 〈1|+ d 〈−−| 〈0|

)
(
I ⊗ I ⊗ |1〉 〈1|

)(
a |++〉 |0〉+ b |+−〉 |1〉+ c |−+〉 |1〉+ d |−−〉 |0〉

)
=

=
(
a 〈++| 〈0|+ b 〈+−| 〈1|+ c 〈−+| 〈1|+ d 〈−−| 〈0|

)
(
a

[
I |+〉 ⊗ I |+〉 ⊗ |1〉

=0︷ ︸︸ ︷
〈1| |0〉

]
+ b

[
I |+〉 ⊗ I |−〉 ⊗ |−〉

=1︷ ︸︸ ︷
〈+| |1〉

]
+

+ c
[
I |−〉 ⊗ I |+〉 ⊗ |1〉

=1︷ ︸︸ ︷
〈1| |1〉

]
+ d

[
I |−〉 ⊗ I |−〉 ⊗ |1〉

=0︷ ︸︸ ︷
〈1| |0〉

])
=

=
(
a 〈++| 〈0|+ b 〈+−| 〈1|+ c 〈−+| 〈1|+ d 〈−−| 〈0|

)(
b |+−〉 |1〉+ c |−+〉 |1〉

)
=

= ... = (b2 + c2)

P0 |ψ̃〉√
〈ψ̃|P0 |ψ̃〉

= (I ⊗ I ⊗ |0〉 〈0|)(a |++〉 |0〉+ b |+−〉 |1〉+ c |−+〉 |1〉+ d |−−〉 |0〉)√
a2 + d2

=

= a |++〉 |0〉+ b |−−〉 |0〉√
a2 + d2

P1 |ψ̃〉√
〈ψ̃|P1 |ψ̃〉

= (I ⊗ I ⊗ |1〉 〈1|)(a |++〉 |0〉+ b |+−〉 |1〉+ c |−+〉 |1〉+ d |−−〉 |0〉)√
b2 + c2

=

= b |+−〉 |1〉+ c |−+〉 |1〉√
b2 + c2
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